Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102 Date: 06-01-2016
Subject Name: Electronic Networks
Time: 10:30 AM TO 12:00 PM
Instructions:

1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
English version is authentic.

Seat No.

Total Marks: 70

U AW

NO.  Question Text and Option. W& A [Ascdl.
1. The unit of capacitance is

A. Farad B. Coulomb
C. Henry D.  Weber
1. 3URERR ol AsH
A ¥es B. scia
C. &adl D awr
2.  Which of following is the unit of inductance?
A.  Ampereturns B. Ohm
C. Webers/m D. Henry
. ollAsttuiell Soss22 oll AsH sA?
A aflaR B al
C. Ao/l D. 34l
3. A 20KQ resistor in parallel with 20KQ produces
A.  10KQ B. 5KQ
C. 20KQ D. 40KQ
3. 20KQ AR U 20KKQ AHARJNY UHIAR AScl 9 HA?
A.  10KQ B. 5KQ
C. 20KQ D. 40KQ
4. Which one of the following is a passive element?
A. BT B. Resistor
C. FET D.  Op-amp.
¥. o{lAsituiell Afla AANL A2
C. FeT Op-amp
5. A capacitor consists of
A.  twoinsulator separated by a B.  two conducting plates separated by an
conducting plate. insulator.
C. twoinsulatoronly. D.  two conducting plates only.
W 3URIRR 9 wRlA ®
A Qudies A wedl wsdlales B A cigs 12 Al uedl Wisd eliss
ae
Cowat A Acuss D.

HIoL QA adles wAe
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http://www.electrical4u.com/what-is-capacitor-and-what-is-dielectric/
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10.

10.

11.

1.

12.

.

13.

Inductance is the ability of a coil to oppose.

A. current B.  voltage change
C. current change D. voltage
Soss2o WA s15ce{l 9 (AR s:clloll &t

A g3 B. Qe Aoy
C. g3 A D.  Qx
Two inductuctors are in series their equivalent will be
A. L+ Lx2M B. Li— L,
C. ( L +L, ) /( L;L, ) D. none

A o552 A A1 Ul Alscll g HA?

A. L;+Lx2M B. L, - L,
C. ( L+ L, ) /( L,L, ) D. aa o.lél
If Zoc=120Q and Z¢. =30, the characteristic impedance is
A, 30Q B. 60Q

C. 120Q D. 150Q2

%8\ Z. =120Q WA 2. =30Q, Al clletdlls s1rllsu

A, 30Q B. 60Q

C. 120Q D. 150Q2
Which of the following quantity remains same in parallel circuit
A.  Currentand Voltage B. \oltage
C. Current D. None
(Al AHIAR SSRHL 9 UMl % ©

A 532 Ual AR B. d&%
C. s D 81y «tél

Three resistance of 2 Q each are connected instar. In equivalent delta representation each resistance
will have a value of

A, 34Q B. 6Q

C. 0.6Q. D. 52Q

RRUL A3 2Q oll 2L AUcRY A SERIHL JUIAR $cll €35 WaRAue{l Ay
A, 34Q B. 6Q

C. 0.6Q. D. 52Q

Electrical current cannot flow if the circuit is

A.  open B. short

C. loose D. closed

usleHl sAss 522 HOA ol % usle

A lue dla B Qg alu

C. ¢l D. oy dla

An ideal voltage source should have

A. Largeemf. B. smallemf.

C.  Zerointernal resistance. D.  noneofthese.

el dleze AR Ui 9 8lg A

A qu emf B. 206\ emf

C. 9o Sorrolcd AA, D. Qg «8l.

Ideal current source should have

A.  large value of current. B. infinite internal resistance.
C.  zerointernal resistance. D.  low value of voltage.
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3.

14.

.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

20.

uledl s22 AR Ui 9 8lg HSA

A auik Ayl 522 B yold Soeratcd ARy

C. 9ot So2retcd AU D. Q¢ Acyell Al

A practical current source is represented by

A.  aresistance in series with an B.  aresistance in parallel with an ideal current
ideal current source. source.

C.  aresistance in parallel with an D.  noneofabove.

ideal voltage source.

Ysdlsct s22 Wl Aottell %y ae B

A Ry wA AEd s22 AL B Ay el aedl s2e QR
Ao3mu UHAR ML

C.o Y uR ued ARy D. Qg 8l

A AMLARML
Ifa circuit does not contain any source of energy or emf, it is known as

A.  unilateral circutt. B.  bilateral circuit.

C.  active network. D.  passive network.

ol US[2Hl As Ul Aot AR ¥ emf oll Sl A usle

A YRAerd usle B, suade:ad usle
C. Asdla Azad D Alla Aeab
Which of the following is not a bilateral?

A.  Resistor. B. Diode.

C.  Capacitor. D.  Inductor.
o(lRAHil g waA2A o1ell?

A Rl B, sials

C. 3Re: D. o522

Ifa 10K Q resistor is placed across a 10v supply, the current will be

A. 10mA B. 1mA

C. 0.01mA D. 0.1mA

%l 10K Q AU AL 10v AA 1Sl $22 9?

A.  10mA B. 1mA

C. 0.01mA D. 0.1mA

The circuit whose properties are same in either direction is known as
A.  unilateral circuit. B.  bilateral circuit.

C. irreversible circuit D. reversible circuit
% AUsleoll WUl 5165 uwl (Baw Hi uRull sl A usle

A YRR udle B oaderd usle
C. SRaRloict usle D. Rafluc udle
A terminal where three or more branches meet is known as

A. node B. terminal

C. loop D. anode

Al 2Rl ¥ Al duUR olle ARO[l HAO A

A s B 2ot

C. qu D Aalls

A closed path made by several branches of the network is known as
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R0.

21.

1.

22.

2.

23.

R3.

24,

RY¥.

25.

U

Loop
Junction

du
%590l

Only some source of emfs
Passive element and source of emf

HL emf AR o sl
Afla AA A2 W emf WA sl

Algebraic sum of the currents meeting
at the junction is zero

Total sum of currents meeting at the
junction is zero.

%59ol WA AU Ul $2200 AlRs
UCALON Yol ULA

%f5lel WA AU AUcll $220ll
UCALON Yol ULA

Closed path

Resistors

ol W

A. Branch B.

C. Circuit D.

Aeabul was slloUell tlotcll ol W 9 sda

A gled B.

C. udlz D.

Active network is one which contains

A.  Only variable resistances B.

C.  Only two source of emfs D.

Asdlel alead 3 Ul

A o AlRAuE A Sl

C. ol A emf A 8l

Kirchhoff’s first law states that

A. Net current flow at the junction  B.
IS positive

C.  No current can leave the junction D.
without some current entering it.

(5l ol udcll Ran Yool

A ofgalel UR HAAL a2 532 B.
WRRa 8

C. oy yell S 522 os2ott D
oA of@ A Yl 818 s22
5ol OIS1 Ascl otell

KCL is applied at

A.  Junction B.

C. Branch

KCL sl Al Ul

A of5alel B.

C. o D.

Kirchhoff’s voltage law is applicable to only
B.
D.

A.  junction in a network

C. electronic circuit

(3ls ey [Ran sl @) ud

A Qedsul sl
C. sasels usle
Kirchhoff’s second law is related to

A. Junction currents
C. IR drops

(3Als ol ollost Qan Slal doitlld B
A ofg9lal 522

Rl

closed path in a network

passive circuits

A2cSHL ol w
Ao usle

Battery e.m.fs
Both battery e.m.fs and IR drops

A em.fs
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26.

RS.

27.

V.

28.

RC.

29.

30.

30.

31.

Kirchhoff’s first law is used in the formation of

A. Loop equations B.
C. Both D.
(3(s ol USCN [Aar Aol HIZ AUR(A
A qu S5Aalel M2 B.
C. dal qu A ollset $sAatet D
HR
Superposition theorem can be applicable to
A. Passive elements B.
C. Linear bilateral network D.

YU [AauH Qoll HEZ AURA

A Ul ARz

C. [Qoar claded a2as D.
Kirchhoffs laws are applicable to

A. AC circuits only B.
C. Both AC and DC circuits D.
(55 oll A2 Aol HIERZ AURA

A Ac uslent B.
C. it ACua DC uslent D.

Ae3l em.fs Aol IR QLU olal

Nodal equations
None of the above

lSEA £55A2lel HI
818 o8l

Non-linear bilateral network

None

Alot-[AtAR clAA2A A2cd
88 o1dl

DC circuits only
Passive network only

HIoL DC usled
oL Alla Aeas

To calculate Thevenin’s equivalent resistance value in a circuit
Both voltage and current sources are

A. Allindependent voltage sources  B.
are opened and all independent
current sources are short
circuited.

C. All voltage and current sources  D.
are shorted.

open circuited

All voltage sources are shorted while

current sources are opened.

usle Ul AAo{lot ol A@A MY A Nucl

A gl g Use AlRer ARl B.
W Uol AR ol SRUse 522
AR eusle

C. wul ARy ua s22 QA e D

Dual of capacitor is

A. Resistor B.
C. Conductor D.
$URI2Re sYA

Ay B.
C. gsser D.
Mesh analysis is dual of

A. KVL B.
C. Nodal analysis D.

olll clee wal 22 AU
AW Uaiusle

oltll clee AR e »=2UR s22

A Ut

Inductor
None

o582
516 o1 dl

KCL
None
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34.

32.

3R.

33.

33.

34.

3%.

35.

34.

36.

36.

gl Aol U A Qo] SYA B
A.  KVL B. KCL

C. s Aol D. Q8 ad

According to KVL the algebraic sum of all IR drops and e.m.fs in any closed loop of a
network is always

A.  positive B.  negative

C. zero D. determine by battery e.m.fs

KVL Yool azals ofl 518 URL 6itl (U oll olul IR QLU Aol e.m.fs oll Gl(Bs
ARl Rl

A Qofldla B. A3dla

C. 9o D Qzdl emfs urell Auat
Dual of Resistance(R) is

A L B. G

C. C D. None

WARAU(R) of SYA

A L B. G

The Norton equivalent current is

A. the current through the load B.  the short circuit current
C. the open circuit current D. none of these

Aléat AAd 522

A Als uiell ¥l s22 B. Jléudle s2e

C. Quatudle s2e D 4y «18l

“In any linear bilateral passive network if a source of e.m.f E in branch A produce a
current I in branch B then same e.m.f in the branch B would produce the same current |
in branch A.” this statement is of

A. Reciprocity theorem B. KVL

C. Thevenin’s theorem D. Norton’s theorem

“In any linear bilateral passive network if a source of e.m.f E in branch A produce a
current I in branch B then same e.m.f in the branch B would produce the same current |

in branch A.” W Ul A of cls B.
A YRNRE Qan B. KvL

C.  9Qolotll Qan D. Aqéctoll Raunt

Norton’s theorem gives

A. anequivalent current source in B. anequivalent voltage source in parallel

series with an equivalent with an equivalent resistance
resistance

C. anequivalent current source in D. anequivalent voltage source in series
parallel with an equivalent with an equivalent resistance .
resistance

lldatoll (anel 9 HA
A ddAd seeld ol LAt B dd@d Ao AR ol AHicHL

Aq@Ad R Ad@d W
C. dd@d s2e ofl Hictzdt D ddq@ct @ Al ol Alflxsm
Aq@Ad WA Ad@d waR
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37.

39.

38.

3¢.

39.

3¢C.

40.

¥0.

41.

¥q.

42.

¥R.

“Maximum power will be transfer from source to load if load impedance matches with
source impedance.” is a statement of which theorem?

A.  Superposition theorem B.  Maximum power transfer theorem

C. Millman’s theorem D. Norton’s theorem

“Maximum power will be transfer from source to load if load impedance matches with

source impedance.” W gl [(AaAH o clls B?

A. Superposition [Qan B Maximum power transfer [Ran

C. Millman’s (@2LH D. Norton’s [t

Thevenin’s equivalent circuit contain

A. Equivalent Voltage source in B.  Equivalent Voltage source in parallel
series with equivalent resistance. with equivalent resistance.

C. Equivalent current source in D.  Equivalent current source in parallel
series with equivalent resistance. with equivalent resistance.

AlAo{lot ot [Raunell 9 HA

A dd@Ad Ay A ol B. @ @ A ofl dnicduL
Al AdAd waR Ad@d waR

C. dd@d sl ol IRt D dd@Ad 5228 ofl auMictuL
Ad@ct ARy Ad@Ad AcRAY

TO calculate equivalent resistance in thevenin’s and norton’s theorem

A.  Remove only current sources B. Remove only voltage sources

C. Remove all energy source D. None of above

AlAoflot U ot oll [A2AH ML AAd MY dlRLel HIR

A ol g22 AR g2 83 B. 1o Q@ A g 53
C. ol Aot QA g2 53 D. Q&4

At resonance

A. XC>XL B. XC=XL

C. XC<XL D. None of above

AU duad

A.  XC>XL B. XC=XL

C. XC<XL D. Qg8

An RLC circuit has a resonance frequency of 160 kHz and a Q-factor of 100. Its band
width is

A. 1.6 kHz. B. 0.625 kHz.
C. 16 MHz. D.  None of these.
RLC usle Hl 2Alel (35¢{l160 kHz wal Q ¥523 100 8lat Al defl Aos(Asa
secdl sl
A. 1.6 kHz. B. 0.625 kHz.
C. 16 MHz. D.  None of these.
Impedance of a parallel RLC circuit at resonance is
A. C B. R

LR LC
c. L D. LC

CR R

WAA RLC Usle 1L iU crd s1dlseug) slau?
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43.

¥3.

44,

Y.

45.

¥,

46.

¥S.

47.

¥9.

48.

¥C.

A C B. R

LR LCc
C. L D. LC

CR R
fi is the resonance frequency then selectivity of RLC circuit is given by
A, B. BW

BW f_r
C. BW D. 2f,

2f, BW
RLC u8le 12 Al Bscll T 8l A AAsd@2l
A f, B. BW

BW f_r
C. BW D. 2f,

2f BW
Unit of Quality factor Q for a coil is
A.  Watt B. Joule
C. Henry D.  No unit
sl 1R sAAZ 3523 Q oll AsH
A dQe B oa
C. 3l D. Qg unit o3
Power factor at resonance is equal to
A 1 B. 0
C. can not determine D. 141
RAAY AHA ULCR §52R=
A 1 B. 0
C. el of st D. 141
Inductive reactance equal to
A. 2xfL B. 1

2L

C. 2afC D. None of above

o5 sdlal AS2oU =

A. 2xfL B. 1
2L
C. 2xfC D. Q& a8l
The unit of flux is
A. Henry B.  Weber
C. Ohm D. Joule
S8l ol AsH
A 2 B. Qug?
C. aa Do ot
The primary and secondary winding of transformer are linked each other by
A. Conduction B.  Not linked at all
C.  Mutual induction D.  Self inductance

2loSIRHR HI WRAHR AA A5SI cleSoslol Aol gl Als aulL



49,

¥C.

50.

Yo.

51.

uq.

52.

uR.

53.

u3.

54,

uy.

A §ss9let B. or2t ul ls otell udq

C. ud Besseot D. Acs voss2ot

In symmetrical 7 type attenuator with attenuation N and characteristic impedance R, ,the
value of R,equal to

A. - B.
g, N1 LES!
N +1 N-1
C. R D. N-1
N-1 Ry

AR s Wy atsu AoyAe Ul Acyuat Nual clells srdlsed R, &l
dl R,oll A =

A. R, N-1 B. R, N+1
N+1 N -1

C. R, D. N-1

N-1 R,
Which one is not phase equalizer
A. constant K B. series type
C.  shunt type D.  Full series
(lRAHIl 5 32 BsaAAsRR el
A Sleee k B. dl»eu
C. ey D et I3l
An Attenuator is use to
A. increase signal strength. B.  provide impedance matching.
C.  decrease reflections. D.  decrease value of signal
AeofuleR Aol HIS dAURA
A st ol RWoll clauRell B. gillsoat AAloL 12
C. sAsuet watsal D. flostet ol Acy wetsau
An attenuator contains
A. Resistances network. B.  RLnetwork
C. RCnetwork D. LCnetwork
AeculeR 9 Ul
A 2l dld Aead B. RLAzad
C. Rcacad D |caead
If o is attenuation in nepers then
A.  attenuation indB = a./0.8686. B. attenuationindB =8.686 .
C. attenuationindB =0.1a.. D. attenuation indB =0.01a.

Bl a W AoyUol AU Hi &l dl
A Aot dB Hi= o/0.8686 B. QZo2juel dB Hi=86860.

C. A2oytet dB Hi=0.1a D. AZo>jtet dB Hi=00la.

In symmetrical bridged T type attenuator with attenuation N=11and R, =500€2 find
characteristic resistance R,

A, 500Q B. 400Q

C. 294Q D. 200Q

A5 (@ 2l elsu AeyAeR Hi WAoot N=11uaA R, =500Q &l cll
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55.

uy,

56.

us.

S7.

wo.

58.

uc.

59.

ue.

60.

o

SO.

clewls srdlset R, =

A, 500Q B. 400Q

C. 294Q D. 200Q

Attenuation in neper is equal to

A.  0.8686 x Attenuation indB B.  8.686 x Attenuation in dB

C.  118.686 x Attenuation indB D.  0.1152 x Attenuation in dB
AUR Hi Aot =

A 08686 x NSofel dB Hi B. 8686 x U2 et dB M
C. 118686xANcyet dB Hi D. 01152x 32 cytet dB i
The property of the coil due to which increase or decrease in current is opposed is called
A.  Selfinduction B.  Mutual inductance

C.  Magnetic coupling D.  Noneofabove

S18A ol MUZ ¥ % 522 Ml AUl dedlRl 3 Uest oll ([AAY 53 & A 9 dsauA
A Ak Bosseod B 12jud oss2odt

C. Raxdls sucllol D. Q8 «18l

The frequency which separates the pass and and stop band is known as

A.  Audio frequency B.  Cut-off frequency

C.  Resonant frequency D.  Critical frequency

(Bscll ¥ % WA Wl RANU QoS A WA 5 D

A 2B Bsdrll B. sy (3scizll

C. el (Bscirll D Bdsct Bsciall

Low pass filter allows only

A.  Lowfrequencies to pass B.  High frequencies to pass

C.  Certain band of frequencies to pass D. Allofabove
AUt (3eeR

A A Bsdlld A w gat @ B. s Bscalla ol Wt gau &
C. uys Aosoll Gsdlld A wt D Gur ot sl

Passive filters not uses
A.  Inductor B.  Capacitors
C.  Operational amplifier D. Allofabove
Al (3eeR i g ot 8l
A Sos52R B 30Reeu
C. Rudaetd Auf@slarR D Guz ot st
Design impedance k for constant k low pass filter is given by
A. \[[_ B. C

c L
C. ‘J?Q D. R

c L

Slote2 k - AW (5e22 1R Basel s1dlse

A. L B. \/E;
Cc L
C. ‘JEQ D. R
c L
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61.

SA.

62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

An ideal filter should have

A.  Zero attenuation in the attenuation B.  Zeroattenuation in the pass band.
band.

C.  Infinite attenuation in the pass band. D.  noneofabove

wed (3eeR ol

A A2eYol AosHL Yol B- Wi Qosul Yol A2oYRat 8lg
AN et 8l HBA SN

Co W QosHl vold Moyttt D 818 ot
RQEEE

For an m-derived high pass filter, the cut off frequency f . is 4KHz and the filter has an infinite
attenuation at 3.6 KHz ( f , ), the value of miis

A. 0436 B. 436
C. 034 D. 0.6

m — SRS 18 -U (§eeR i se-llg (55l ( f ) 4KHz Wl Vol WAoot 36
KHz (scilA (f,) 8l Al m o{l Ay

A.  0.436 B. 436

C. 034 D. 0.6

Classification of filter based on the network used is

A.  Symmetrical T and 7 type filter B.  Active and passive filter

C.  Constant k type and m-derived filter D.  Low passand high pass filter
(3ceRe] collsR0l AUl AURRA A2as Yool

A QRdsd T eleu Bz B Asdla ua Alla (e

C. Aeudek wa m - Slasa D AQwa wa sle -wat (ee?
($ce?

Disadvantages of constant k type filter

A.  characteristic impedance B.  attenuation does not occur rapidly in
unchanged in pass band. the attenuation band.

C. bothAandB. D.  noneofthese.

Slodtde k 28U (3cerell ARgIAEL 9 &
Ay AosHi cltalls sxdllsedt B ARoylol Aos Hi ABoYet BsUl
U 38R Al el Bealald ol

C.(A) ua (B)oia D. Q& a3

When certain band of frequencies is allowed to pass through a filter circuit, the filter is
called a

A. low pass filter B.  band pass filter

C. band stop filter D.  high pass filter

R ($5cloll Y5 Aos (32 usle Hiell W gal TaHl A B A (e
9] Beala

A A-w Bee? B Qos wiat Bee?

C. Qos AU (ee? D. sty -wat Bee?

A filter which does not allow to pass certain band of frequencies is

A. LPF B. HPF

C. BPF D. BRF
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SS.

67.

SV.

68.

SC.

69.

Sc.

70.

90.

(3cer 3 & (Bsdllotl wYs Aosal W Ucll & el A (3cera 9 dsaua

A. LPF B. HPF

C. BPF D. BRF

Constant k type symmetrical T high pass filter has inductance of 42mH and capacitor
of 0.1 u F find value of design impedance k.

A.  648.07Q B. 500Q

C. 20050 D. 600Q

slottee k 2lsu AIAELsA T ole - ($eerHL So55242mH Aol 3UR2RU0.1 1

F ol dl Batset erdllsed kol ey 20t

A.  648.07Q B. 500Q

C. 20050 D. 600Q

If inductor is connected in each series arm and capacitor is connected in shunt arm then
it is

A.  Symmetrical T-type high pass B.  Symmetrical T-type low pass filter

filter
C.  Symmetrical z-type high pass D.  Symmetrical = -type low pass filter
filter
B Sossea €35 3o il Ui v 3URA 2le i Hi lsal Hi A A
A (3eeR
A AR sA T asu ale -w B dlsct Telsu AQ-uwr (Bee?
(3ce?
C LAdscd rawsusw -wd P ARsc 7 elsu Q-w (Bee?
(3ceR
Cut-off frequency of constant k-type low pass filter (LPF) is given by
A1 B. f =xJ/LC
° 2zJLC
c. _ 1 D. . _ 1
° mlLC ° 4zyLC
slotée k aleu cl-uld (3ceell se-xs (5sdl-
A1 B.  f =zxJLC
° 2zJLC
c. . __1 D. . _ 1
° zlLC ° 4rzyLC

The output of a certain voltage divider is 12 V with no load. When a load is connected,
the output voltage

A.  increases B.  remains the same

C. becomes zero D.  decreases

YR AS ol Sl AR AR Slals? of WIB2Y2 12V 8.1 AlS AscllHl 4
dl 2Beye A=x

A @ d B vl 2% ®

C. 9ot Ut A B D. w2 ®

*khkhkhkhkhhhkhkkkkkk
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